



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{3}{5} - \frac{3}{4}\right)^2 - \frac{3}{4}\left(\frac{1}{3} - \frac{1}{6}\right) =$$

$$\left(\frac{2}{5} + \frac{1}{6}\right)^2 - \frac{1}{4}\left(\frac{3}{2} + \frac{1}{4}\right) =$$

$$\left(\frac{1}{6} - \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{2} - \frac{1}{5}\right) =$$

$$\left(\frac{1}{3} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{4} + \frac{2}{3}\right)^2 =$$

$$\left(\frac{2}{5} + \frac{1}{4}\right)^2 - \frac{3}{4}\left(\frac{3}{4} + \frac{1}{2}\right) =$$

$$\left(2 + \frac{2}{3}\right)^2 - \frac{2}{5} - 4^2 - \frac{1}{4} =$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{2}{3}\left(\frac{1}{6} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \left(\frac{1}{4}\right)^2\right) =$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{3}{4}\left(\frac{1}{3} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{3}{5} - \left(\frac{2}{5}\right)^2\right) =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{3}{5} - \frac{3}{4}\right)^2 - \frac{3}{4}\left(\frac{1}{3} - \frac{1}{6}\right) = \left(-\frac{41}{400}\right)$$

$$\left(\frac{2}{5} + \frac{1}{6}\right)^2 - \frac{1}{4}\left(\frac{3}{2} + \frac{1}{4}\right) = \left(-\frac{419}{3600}\right)$$

$$\left(\frac{1}{6} - \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{2} - \frac{1}{5}\right) = \left(-\frac{103}{720}\right)$$

$$\left(\frac{1}{3} - \left(\frac{2}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{4} + \frac{2}{3}\right)^2 = \frac{347}{432}$$

$$\left(\frac{2}{5} + \frac{1}{4}\right)^2 - \frac{3}{4}\left(\frac{3}{4} + \frac{1}{2}\right) = \left(-\frac{103}{200}\right)$$

$$\left(2 + \frac{2}{3}\right)^2 - \frac{2}{5} - 4^2 - \frac{1}{4} = \left(-\frac{1717}{180}\right) = \left(-9\frac{97}{180}\right)$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 + \frac{2}{3}\left(\frac{1}{6} + \left(\frac{1}{3}\right)^2\right) = \frac{3323}{10800}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \left(\frac{1}{4}\right)^2\right) = \frac{243}{800}$$

$$\left(\frac{2}{3} - \frac{1}{3}\right)^2 - \frac{3}{4}\left(\frac{1}{3} + \frac{1}{2}\right) = \left(-\frac{37}{72}\right)$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{3}{5} - \left(\frac{2}{5}\right)^2\right) = \frac{407}{300} = 1\frac{107}{300}$$